1.) Kathy is a repair technician for a phone company. Each week,
she receives a batch of phones that need repair. The number of
phones that she has left to fix at the e he day can be
estimated with the equati here P is the
number of phones left and d 15 the nber of days she has
worked that week. What is the meaning of the value of 108 in
this equation?

A( Kathy will complete the repairs within 108 days.
@(athy starts each week with 108 phones to fix.
9{ Kathy repairs phones at a rate of 108 per hour.

y{ Kath repairs phones at a rate of 108 per day.

2.) On Saturday afternoon, Armand sent m text messages each
hour for 5 hours, and Tyro H@p text messages-each hour for
4 hours. Which ollowing represents umber of
messages sent by Armand and Tyroneb‘;n Saturday afternoon?

% B SM+
B) 20mp

@m +4p

D) 4m + 5p



3) If x;—l = k, and k = 3, what is the value of x?

A) 2 /X,};,{ — S
B) 4 X-——[:q
A=

) 9

10

4.) If 2 = 2, what is the value of 4b7

\
A) 0

B) 1

)2

D) 4



5.) g =4 / —_— — / _’( }/
For the function g defined above, : = .

What is the value of g(—4)?

@8 g:—. o L{ ‘44"1 3__’ -‘D

B) 0

_lp=lo &
=10k [t
D) -8

6.) Aline in the xy-plane passes through the origin and has a

slope of ; Which (ﬁ [t\he following points lies on the line?

A) (0,7) (n ,\7 '( “ ,7/)

-"

B) (1,7) (0‘ : .' >

Q) (7,7) d

0) (14,2) |




7.) Ifa = 542 and 2a = +/2x, what is the value of x?

5. 20 =X
)
(103 4@&) /

100?& b y=Im
4

8.) If y = kx, where k is a constant, tld’y 2§wh = 6, what
is the value of y when x = 5? y — V?

o St=he)

© o -
D) 23 :‘{X —
/- 4(5) =40




9.) If16 + 4x is 10 more than 14, what is the value of 8x?

A) 2

B) 6 ,bﬂ%za}\
16 A“x:’%

©

D) 80 )(—-9-

10.) For what value of nis |n — 1| + 1 is equal to 0?
A) O

B) 1 |n - I/ = {
C) 2

@ There is no such value of n.



11.) Which of the following numbers i@a solution of the
inequality 3x — 5 =2 4x — 37

@+ -5 =2) —F
B) -2 = =)
C) -3 /{/é K

D) -5

Chapter 8 - Exponents and Exponential Functions

Section 1: Zero & Negative Exponents



Find the value of each power of 2.

Zero as an exponent:

2R= 16
23= 8 a’ =
22— 4
2'= 2 Negative
20— 1 Exponents
1 1 Reciprocal
S — 4 __ 1
27=|05= =5 a'”=1—
q"
.. _1_1
27°=10.25 =4 =75

Simplify. Write your answer without negative exponents.

2. 2. SE
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1. 7x~2




Simplify each. Write your answer without zero as an
exponent or negative exponents.
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Simplify. Write answer without zero or negative exponents.

| S ) =5 3
1. wx3y? X o 4b” ¢

( W g bf




3.

—3r

‘\ ()f—7

___3,/'

6 —S(cﬁ'ﬂ/oc2

2d8

—5C

Q

Q\*’




Rewrite each problem so that everything has a Negative exponent.

m’g® _ O 2. 8a%b7)

1. ~ . __b )
A

Is the value of each expression POSITIVE
or NEGATIVE? Write POS or NEG

2. (-4 —

1. -52  —
3. =(-Q)* — 4. -2°
5.(=3)5 — 6. —(-7)° 4

7. (-6)77 J_ — — 8. (-10)°



Evaluate each expression for x=-9 and y = 4.
Give fractional answers in reduced form. (

. =
1. x%y =12 p» = ==
ey (P
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